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Question 1- a:b = 5:6

b:c = 7:8

a:b:c = ? 

A.35:42:48

B. 35:42:55

C. 35:42:21

D.35:42:11

E. None of these



Question 2- a:b =4:5  & a:c = 7:8

a:b:c = ? 



Question 3- A sum of Rs 17800 divided among A,B and C 

such that ratio between the share of A and B is 4:5 and that 

of B and C is 6:7. How much money did B get?  

प्रश्न 3- 17800 रुपये की राशि को A, B और C के बीच इस प्रकार 

शिभाशित शकया गया ह ैशक A और B के शहस्से के बीच का अनपुात 4:5 

ह ैऔर B और C के शहस्से का अनपुात 6:7 ह।ै B को शकतना पैसा 

शिला?

A.5000

B. 6000

C. 7000

D.8000

E. None of these
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Question 4- A sum of Rs 4000 divided among A,B and C 

such that A gets one-third of B and C, B gets one fourth 

of A and C. Find the share of C.

प्रश्न 4- 4000 रुपये की राशि को A, B और C के बीच इस प्रकार 

शिभाशित शकया िाता ह ैशक A को B और C का एक-शतहाई शिलता ह,ै 

B को A और C का एक चौथाई शिलता ह।ै C का शहस्सा ञातात कीशिये।

A.2200

B. 1100

C. 1000

D.3000

E. None of these
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Question 5- The price of diamond is proportional to 

square of its weight. If it is broken in ratio 3:2:2 then 

there is a loss of Rs 64000. Find the actual cost of 

diamond.

प्रश्न 5- हीरे की कीित उसके भार के िगग के सिानपुाती होती ह।ै यशि

इसे 3: 2: 2 के अनपुात िें तोडा िाता ह ैतो 64000 रुपये की हाशन 

होती ह।ै हीरे की िास्तशिक कीित ञातात कीशिए।

A.Rs 12000

B. Rs 140000

C. Rs 98000

D.Rs 150000

E. None of these
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Question 6- A bag contains 1 Rs, 50 paise and 25 paise 

coins in ratio 5:7:9 . If total Rs is 8600 then find number 

of 50 paise coins.

प्रश्न 6- एक बैग िें 1 रुपय,े 50 पैसे और 25 पैसे के शसक्के 5: 7: 9 के 

अनपुात िें हैं। यशि कुल 8600 रुपये ह,ै तो 50 पैसे के शसक्कों की 

संख्या ञातात कीशिए।

A.4600

B. 5600

C. 3600

D.6600

E. None of these
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Question 7- A box has 66 articles, some white and rest 

red. Which of the following could be the ratio of white to 

red article in the box?

प्रश्न 7- एक बॉक्स िें 66 लेख हैं, कुछ सफेि और बाकी लाल। 

शनम्नशलशखत िें से बॉक्स िें सफेि और लाल िस्त ुका अनपुात क्या हो

सकता ह?ै

A. 9:11

B. 7:3

C. 5:9

D. 6:7

E. 8:5
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Question 8- 10 years ago ratio between the age of A and 

B was 2:3. Ten year hence this ratio becomes 3:4. Find 

the present age of B.

प्रश्न 8- 10 िर्ग पहले A और B की आय ुके बीच का अनपुात 2:3 था। 

िस साल बाि यह अनपुात 3: 4 हो िाता ह।ै B की ितगिान आय ुञातात 

कीशिये।

A.60 years

B. 70 years

C. 80 years

D.40 years

E. None of these
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Question 9- The ratio between the age of P and Q five 

years ago was 2:3. After 5 years this ratio becomes 5:7. 

Find the sum of there present age.

प्रश्न 9- पांच िर्ग पहले P और Q की आय ुके बीच का अनपुात 2:3 

था। 5 िर्ों के बाि यह अनपुात 5: 7 हो िाता ह।ै ितगिान आय ुका 

योग ञातात कीशिए।

A.100 years

B. 110 years

C. 80 years

D.90 years

E. None of these
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Question 10- The ratio between the income of A and B is 

3:2 and that of there expenditure is 5:3. If each saves Rs 

4000 then find income of A.

प्रश्न 10- A और B की आय के बीच का अनपुात 3:2 ह ैऔर िहां के 

व्यय का अनपुात 5:3 ह।ै यशि प्रत्येक व्यशि 4000 रुपये बचाता ह ैतो 

A की आय ञातात कीशिये।

A.18000

B. 12000

C. 14000

D.24000

E. None of these
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Question 11- The total number of students in a school is 

4100. If the number of girls in the school is 1800, then 

what is the respective ratio of the total number of boys to 

the total number of girls in the school?

प्रश्न 11- एक शिद्यालय िें छात्रों की कुल संख्या 4100 ह।ै यशि 

शिद्यालय िें लडशकयों की संख्या 1800 ह,ै तो शिद्यालय िें लडकों की 

कुल संख्या और लडशकयों की कुल संख्या का संबंशित अनपुात क्या

ह?ै

A.18:23

B. 18:25

C. 18:11

D.18:13

E. None of these
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Question 12- Rs 2400 divided among A,B and C in ratio 

2:3:5 instead of 2:3:7. How much more or less money 

did C get.

प्रश्न 12- 2400 रुपये को A, B और C के बीच 2: 3: 7 के बिाय 2: 

3: 5 के अनपुात िें शिभाशित शकया गया ह।ै C को शकतना अशिक या 

कि पैसा शिला?

A.Rs 500

B. Rs 400

C. Rs 300

D.Rs 800

E. None of these
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Question 13- A 90 liter of mixture contains milk and 

water in ratio 2:1. How much water must be added to 

make this ratio reversed. 

प्रश्न 13- एक 90 लीटर शिश्रण िें ििू और पानी का अनपुात 2:1 ह।ै 

इस अनपुात को उलटने के शलए शकतना पानी शिलाया िाना चाशहए?

A.30 L

B. 20 L

C. 50 L

D.40 L

E. None of these
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Question 14- The ratio between the male and female is 

3:2. If 20 more female join then this ratio reversed. Find 

the number of female initially.

प्रश्न 14- परुुर् और िशहला के बीच का अनपुात 3: 2 ह।ै यशि 20 और 

िशहलाए ंिाशिल होती हैं तो यह अनपुात उलट िाता ह।ै प्रारंभ िें 

िशहलाओ ंकी संख्या ञातात कीशिये।

A.24

B. 22

C. 34

D.55

E. None of these
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Question 15- Two numbers are in ratio 4:9. If there 

product is 5184. Find the first number.

प्रश्न 15- िो संख्याओ ंका अनपुात 4:9 ह।ै यशि कोई उत्पाि 5184 ह।ै 

पहली संख्या ञातात कीशिये

A.40

B. 48

C. 36

D.54

E. None of these
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Question 16- There is 60 liter of pure milk in a jar. 12 liter of 

milk is taken out and replaced by water. Again 12 litre of mixture 

is taken out and replaced by water. This process is repeated one 

more time. Then find ratio of milk and water in resultant mixture.

प्रश्न 16- एक िार िें 60 लीटर िदु्ध ििू ह।ै 12 लीटर ििू शनकाला िाता ह ैऔर 

पानी से प्रशतस्थाशपत शकया िाता ह।ै शफर से 12 लीटर शिश्रण शनकाला िाता ह ै

और पानी से प्रशतस्थाशपत शकया िाता ह।ै इस प्रशिया को एक और बार िोहराया 

िाता ह।ै तो पररणािी शिश्रण िें ििू और पानी का अनपुात ञातात कीशिये।

A.125:64

B. 125:61

C. 64:61

D.54:51

E. None of these
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